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Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =l

Identify the incorrect statement among the given.

/Answer ( Please select your correct option )

An entity may be an object with a physical existence like a car.

Age can be considered as a single value attribute of a person.

The attribute Date_of_birth can be considered as a derived attribute.

Skill is a multivalued attribute
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Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

Which of the following is a feature of FOREIGN KEY constraint? —

/Answer ( Please select your correct option )

used to enforce referential integrity.

limit the no of values that can be placed in a coluran.

enforces that the column will not accept null values.

enforces the uniqueness of the values in a set of columns
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Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

“Database System” is the

Answer ( Please select your correct option )

Database and DBMS

Database and Data

Data and Information

Operating System and Database
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Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

On magnetic media, data is stored in

Answer ( Please select your correct option )

Text
o

Binary format

Tables

Start Time: 1:18 AM

117:00

Time Left

|paper.aspx

For Solved Visit VU Answer




For Solved Visit VU Answer

'U Examination System (CLIENT) YUTES 6. all 2012 (FinalTerm; Windows Internet Explorer

—
@ J = [e] hip: flocalhost,

Fle Edt Wiew Favortes Tools Help

¢ Favortes | 13 &5
& YU Examination System (CLIENT) VUTES 6.5 :::... Fall... X0 v B - = v Page~ Safety -~ Tools v @

Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following types of partitioning reduces the chances of unbalanced partitions?

Answer ( Please select your correct option )

Vertical
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Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

Vertical partitioning is done on the basis of

Answer ( Please select your correct option )

Attributes
c

Clustering

Replication
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Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following is a correct way of selecting all the columns from a table called PERSONS?

Answer ( Please select your correct option )

SELECT FROM * Persons

SELECT * FROM Persons

SELECT * WHERE Persons

SELECT WHERE * Persons
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Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

Which of the foll creates a database named COMPANY.

Answer ( Please select your correct option )

CREATE DATABASE COMPANY
o

CREATE DB company

ADD DATABASE copmany

CREATE company DATABASE
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Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following is one of the purposes of using DML commands?

Answer ( Please select your correct option )

Creating databases

Destroying databases

Inserting data in tables

Create table
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Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

is used to access and manipulate data.

Answer ( Please select your correct option )

DDL
o
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Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following gives all the fields from employee table named as EMP?

Answer ( Please select your correct option )

select * from EMP

select emp® from EMP

select emp_id where EMP

select * where EMP
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Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

Consider two sets & and B. A contains 2 elements and B contains 3. How many elements do their Cartesian product contains?

Answer ( Please select your correct option )

6

-

Start Time: 1:18 AM

117:00

Time Left

|paper.aspx

For Solved Visit VU Answer




For Solved Visit VU Answer

windows Internet Explorer

Fle Edt Wiew Favortes Tools Help

L Favorites | 5 250 sy B
(€ vU Examination System (CLIENT) YUTES 6.5 ::1... Faﬂ”.l X v Bl - = v Pagev Safety v Toolsv @~

Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

is not an operation of relational algebra

Answer ( Please select your correct option )

Addition

Cartesian Product

Set Difference
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Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

Partitions may become unbalanced in:

Answer ( Please select your correct option )

Range partitioning
c

Hash partitioning

List partitioning.

Vertical partitioning
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Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

is used to sort the result set in ascending or descending order

Answer ( Please select your correct option )

Group by Clause

From Clause

Where Clause

Order by Clause
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Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

“Select * from STUDENT, DEPARTMENT" is an example of

Answer ( Please select your correct option )

Cartesian Join
c

Inner Join

Outer Join

Full Outer Join

Start Time: 1:18 AM

117:00

Time Left

|paper.aspx

For Solved Visit VU Answer




For Solved Visit VU Answer

'U Examination System (CLIENT) YUTES 6. all 2012 (FinalTerm; Windows Internet Explorer

—
@ J = [e] hip: flocalhost,

Fle Edt Wiew Favortes Tools Help

¢ Favortes | 13 &5

& YU Examination System (CLIENT) VUTES 6.5 :::... Fall... X0 v B - = v Page~ Safety -~ Tools v @

Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following specifies the tables, which we access in the query?

Answer ( Please select your correct option )

SELECT Clause

FROM Clause

WHERE Clause

ORDER BY Clause
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Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

Suppose there are 5 rows and 4 columns in TABLE] and 6 rows and 7 columns in TABLE2; what is the size of the Cartesian product incase of CROSS JOIN between these two tables?

Answer ( Please select your correct option )

30
c
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Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following is not a type of user interface?

Answer ( Please select your correct option )

Graphical User Interface (GUL)

Database Schema

Text based Interface
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Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

is a control that users click to perform an action.

Answer ( Please select your correct option )

Button
c

Text box

Input form
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Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

The main memory of a computer system is also known as

Answer ( Please select your correct option )

ROM
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Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

is not a form of optical disk.

Answer ( Please select your correct option )

CDROM
o

Erasable Optical Media

EEPROM
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Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

is an example of volatile memory.

Answer ( Please select your correct option )

RAM

Flash memory
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Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

is not a feature of hash access.

Answer ( Please select your correct option )

indexes to search or maintain
c

Very fast direct access

Inefficient sequential access

Use when direct access is needed, but sequential access is not
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Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

is of chaining e to handle the coll

Answer ( Please select your correct option )

Unlimited Number of elements

Fast re-hashing.

Overhead of multiple linked lists

Mazimum number of elements must be known
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Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

Which of the following is NOT a part of Deadlock Resolution?

Answer ( Please select your correct option )

Choose a victim
c

A message 15 passed to the victim and depending on the system the transaction may or may not be started again automatically.

Picking a list of all previously completed transactions and undoing all the updates.

Raollback “wictim' transaction and restart it.
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Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

A Table can have clustered index (es)

Answer ( Please select your correct option )

Only one

More than two
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Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

CLUSTERED Index is created automatically, when we create

Answer ( Please select your correct option )

Database
c

Cross Reference Matrix
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Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following is NOT CORRECT Regarding VIEWS? =

Answer ( Please select your correct option )

VIEWS can be used to interact with the database

Through VIEWS users can focus on their interested data

VIEW can show one or more records from a database.

VIEW cannot be updated
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Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

Which of the following is not a type of VIEWS? =

Answer ( Please select your correct option )

Materialized View
c

Simple Views

Complex View

Cross Reference View
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Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

Which of the following command shows all the columns from “PRODUCT-VIEW?”

Answer ( Please select your correct option )

SELECT * FROM PRODUCT-VIEW

SELECT PRODUCT-VIEW

SHOW ALL PRODUCT-VIEW

PRODUCT-VIEW SELECT
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Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

TWhich of the following is not a feature of “Database Transaction”?

Answer ( Please select your correct option )

Users should be able to regard the execution of each transaction as atomic
c

It must follow the ACID properties.

Either all actions of a Transaction are carried out or none are.

Transaction always affects the every other concurrent transaction.

Start Time: 1:18 AM

117:00

Time Left

|paper.aspx

For Solved Visit VU Answer




For Solved Visit VU Answer

'U Examination System (CLIENT) YUTES 6. all 2012 (FinalTerm; Windows Internet Explorer

—
@ J = [e] hip: flocalhost,

Fle Edt Wiew Favortes Tools Help

¢ Favortes | 13 &5
& VU Examination System (CLIENT) VUTES 6.5 :::... Fall... X0 v B - = v Page~ Safety -~ Tools v @

Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Dead Lock can be prevented by giving each transaction a

Answer ( Please select your correct option )

Name

Clustered Index

Cartesian Join
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Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

is used to detect the dead lock.

Answer ( Please select your correct option )

Wait-for graph
c

Cross Reference Matrix

Clustered Index

Start Time: 1:18 AM

117:00

Time Left

|paper.aspx

For Solved Visit VU Answer




'U Examination System (CLIENT) YUTES 6.

For Solved V

all 2012 (FinalTerm; Windows Internet Explorer

sit VU Answer

—
@ J = [e] hip: flocalhost,

Fle Edt Wiew Favortes Tools Help

¢ Favortes | 13 &5

& YU Examination System (CLIENT) YUTES 6.5 :

M v B - v page~

Safety v Tools + ()

Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min)

=

To read a database object, it is first brought into from disk, and then its value is copied into a program variable.

Answer ( Please select your correct option )

Main Memory

Flash Memory

SATA Hard Disk

Solid State Hard Disk
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(Question No : 36 of 52

Marks: 1 (Budgeted Time 1 Min)

=)

Locking is maintained by

Answer ( Please select your correct option )

End User
c

Form Designer

Lock Manager

User Interface

Start Time: 1:18 AM

117:00

Time Left

|paper.aspx

=

For Solved V

sit VU Answer




For Solved Visit VU Answer

windows Internet Explorer

Fle Edt Wiew Favortes Tools Help

L Favorites | 5 250 s 2w

& YU Examination System (CLIENT) YUTES 6.5 :::... Fall... |

) v B - (0 e v Page~ Sefety - Toos~ @~

Question No : 37 of 52

Marks: 1 (Budgeted Time 1 Min)

=

A relation (from the relational database model) consists of a set of tuples, which implies that

Answer ( Please select your correct option )

it supports multi-valued attributes whose values can be represented in sets

for any two tuples, the values associated with all of their attributes may be the same.

for any two tuples, the values associated with one or more of their attributes must differ.

all tuples in a particular relation may have different attributes.
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(Question No : 38 of 52

Marks: 1 (Budgeted Time 1 Min)

=)

IfA ->Bthen AC - >BC.
This inference rule is called as

Answer ( Please select your correct option )

Reflextivity
c

Transitivity

Augmentation

Addition

Start Time: 1:18 AM

117:00

Time Left

|paper.aspx

=

For Solved Visit VU Answer




For Solved Visit VU Answer

'U Examination System (CLIENT) YUTES 6. all 2012 (FinalTerm; Windows Internet Explorer

—
@ J = [e] hip: flocalhost,

Fle Edt Wiew Favortes Tools Help

¢ Favortes | 13 &5
& YU Examination System (CLIENT) VUTES 6.5 :::... Fall... X0 v B - = v Page~ Safety -~ Tools v @

Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following tells us that the link between two relations is compulsory or optional?

Answer ( Please select your correct option )

Minimum Cardinality

Maximum Cardinality

Existence Dependency

Referential Dependency
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Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) (=] =

How super type properties can be transferred in sub types automatically?

Answer ( Please select your correct option )

Inheritance
c

Abstraction

Encapsulation

Through DFD
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Question No : 41 of 52 Marks: 2 (Budgeted Time 4 Min) (=]

Discuss the purpose of OR operator in SQL Command?

Answer ( Please click here to Add Answer )

D@ ESR | %> = alEd 9 | @) [1o0% =]|
[hormal =] [l =z =8z F*

q
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Question No : 42 of 52 Marks: 2 (Budgeted Time 4 Min) (=] =

Part of ER diagram for "University System" is given below. IMention Dependency exists between entities from the list provided. 2
(Dependencies: Existence, Identifier, Referential)

Department Faculty

Answer ( Please click here to Add Answer )

DeEanR| 2o = aE o E @ o]
[hiormal [ = = e

q

Start Time: 1:18 AM

117:00

Time Left

|paper.aspx

For Solved Visit VU Answer




For Solved Visit VU Answer

/2 YU Examination System (CLIENT) YUTES 6. all 2012 (FinalTerm; Windows Internet Explorer
—
@ A structions. as =l &2l x |2 e

Fle Edt Wiew Favortes Tools Help

¢ Favortes | 13 &)

& U Examination System (CLIENT) VUTES 6.5 :::... Fall... Yy v B - 0 o= v Page~ Safety v Took~ @

Question No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) (=]

Analyze the statement given below as correct or incorrect. If incorrect, rephrase the statement into correct.

“Ideally in hashing, distribution of Keys to memory addresses is uniform and random.”

Answer ( Please click here to Add Answer )
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Question No : 44 of 52 Marks: 2 (Budgeted Time 4 Min) (=] =

How Deadlock occurs?

Answer ( Please click here to Add Answer )
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Question No : 45 of 52 Marks: 3 (Budgeted Time 6 Min) (=]

STUDENT table is given below, Write a SQL query to get all student names along with father names and address, which belongs to Lahore city.

STUDENT (stu_id, stu_name, father_name, address, city, phone_no)

Answer ( Please click here to Add Answer )
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Question No : 46 of 52 Marks: 3 (Budgeted Time 6 Min) (=] =

Analyze the statement given below and identify as correct or incorrect. Justify your answer in either case.

® We can define as many Clustered Indexes as we want on a single table

Answer ( Please click here to Add Answer )
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Question No : 47 of 52

Marks: 3 (Budgeted Time 6 Min)

=

Analyze the statement given below and identify as correct or incorrect. Justify your answer in either case

® InRecovery Procedure, the transactions ended before the checkpoint are Redone.

Answer ( Please click here to Add Answer )
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(Question No : 48 of 52

Marks: 3 (Budgeted Time 6 Min)

=)

Employee
Employee-ID
1 ABC

Name Dept-Name

Accounts

Salary Skdll
25000

Convert the following relation into one normal form ahead . (For example: if relation is in 2 normal form, convert it into 3 normal form.)

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min)  [=] =
Student-Record (STU_ID, COURSE_ID, SEM_NO, MIDTERM_MARKS, FINALTERM MARKS)

Write a SQL query on Student-Record table to show STU_ID of each student, who’s COURSE_ID, is C3403 OR CS507 OR C35201. (Use IN Operator)

Answer ( Please click here to Add Answer )
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Draw a basic ERD from the list of requirements provided below.

Marks: 5 (Budgeted Time 10 Min) (=] =l

a- There are three entities involved in a system, which are as under;

i- Product

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min)  [=]

Analyze the statements given below and identify each statement as correct or incorrect. Justify your answer in either case
0

“Durability” ensures that committed changes in the database can be lost due to any failure.
1

Transaction is a dividable unit of work and of half

must be performed to preserve the data integrity.

Answer ( Please click here to Add Answer )
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(Question No : 52 of 52

DOCTOR (D-ID, D-PHONE)

Y ;= v Page v Safety» Tooks~ @+
MEDICINE (M-CODE, Description)

Marks: 5 (Budgeted Time 10 Min) (=] =l

1 - Create unique index on table DOCTOR on field D_ID

2 - Create unique index on table MEDICINE on composite attributes M_CODE and Description

Answer ( Please click here to Add Answer )
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